9.2 – Reaction Rates and Equilibrium
Use the diagram to the right for questions 1–3
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1. The activation energy for this reaction is represented by the arrow:


A. A


B. B


C. C


D. D

2. If a catalyst is introduced to the reaction, it would change the height of arrow:


A. A


B. B


C. C


D. D

3. Zinc reacts with hydrochloric acid according to the following reaction.

Zn(s) + 2 HCl (aq) ( H2 (g) + ZnCl2 (aq) 
Which of the following is true?

A. The average rate of this reaction can only be expressed by as the amount of zinc consumed in a given period of time.

B. The average rate of this reaction can only be expressed as the amount of hydrogen produced in a given period of time.

C. The average rate of this reaction can be expressed as either the amount of zinc consumed or the amount of hydrogen produced in a given period of time

D. The average rate of this reaction cannot be expressed in terms of the amount of zinc consumed or the amount of hydrogen produced in a given period of time
Use the following equilibrium for questions 4 – 5
UO2 (s) + 4HF (g) + Energy (( UF4 (g) + H2O (g)
4. An increase in temperature will cause:


A. Shift to the left


B. Shift to the right


C. No change

5. A decrease in the amount of UO2 will cause a:


A. Shift to the left


B. Shift to the right


C. No change
6. Explain in detail how reaction rate is affected on a molecular level with an increase in concentration? A decrease in temperature? An increase in pressure for a gas?

7. Draw a reaction coordinate and label the products and reactants on the coordinate. LABEL YOUR AXIS!



8. Define activation energy.

9. On the reaction coordinate that you drew for question 8, indicate the activation energy. Label it as Ea.

10. On the reaction coordinate that you drew for question 8, draw with a dashed line how it would be changed when you introduce a catalyst.

